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2.8 Recitation Exercises 
 

1.  If the graph of  𝑓(𝑥) = |𝑥 + 1| − 2,   𝑥 ≤ 𝑘, is one-one,  then a possible value 
of 𝑘 is equal to 
A)     0           B)     1               C)     - 1              D)  2                E)    3 

 
2. For the following functions, find 𝑓ିଵ(𝑥) and state its domain and range 

a)  𝑓(𝑥) = −√4 − 𝑥ଶ   for  −2 ≤ 𝑥 ≤ 0. 

b)  𝑓(𝑥) = 2 + √3 + 𝑥  for  𝑥 ≥ −3 

c)  𝑓(𝑥) =
ଶ௫ାଷ

௫ିଵ
  

 

3.  If 𝑓(𝑥) = −𝑥ଶ + 4𝑥, 𝑥 ≤ 2, 𝑡ℎ𝑒𝑛   𝑓ିଵ(𝑥) is 
 

A)     𝑦 = 2 ± √4 − 𝑥 , 𝑥 ≤ 4 
 

B)     𝑦 = 2 − √𝑥 − 4 , 𝑥 ≥ 4 
 

C)     𝑦 = 2 − √4 − 𝑥 , 𝑥 ≤ 4 
 

D)     𝑦 = 2 + √4 − 𝑥 , 𝑥 ≤ 4 
 

E)     𝑦 = 2 + √𝑥 − 4 , 𝑥 ≥ 4 

 

4. Let 𝑓(𝑥) =
ଷ௫ି௞

௫ିଶ
  and 𝑓ିଵ(𝑥) exists. If 𝑓ିଵ(−2) = 1, then the value of 𝑘 is 

A)   −1               B)   1                C)  0                  D)     −2               E)     2 
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4.1 & 4.2 Recitation Exercises 
 

1.  If the function  𝑦 = 4௫ାଶ − 5  is written as  𝑦 = 𝑘 ቀ
ଵ

ଶ
ቁ

௕௫
+ 𝑐,  then               

  𝑘 + 𝑏 + 𝑐 = 
 
A)   11                 B)  7                  C)     9               D)  13              E)  12 

  

2. Find the intersection points of the graphs of  𝑦 = ቀ
ଵ

ଷ
ቁ

ଶ௫ାହ
 and 𝑦 = 27 

 

3. Graph the function. State the domain, range, and asymptote: 

a) 𝑦 = 3 − 10ି௫ 

b) 𝑓(𝑥) = 𝑒ି|௫| − 1 

 

4. The adjacent figure represents the graph of:   

(a)     𝑦 = − ቀ
ଵ

ଶ
ቁ

௫ାଶ
+ 3 

(b)     𝑦 = ቀ
ଵ

ଶ
ቁ

௫ାଶ
− 3 

(c)     𝑦 = −(2)௫ାଶ + 3  

(d)     𝑦 = (2)௫ + 3 

(e)     𝑦 = (2)௫ିଶ + 3 
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4.3 Recitation Exercises 
 

1. Use the definition of the logarithmic function to find 𝑥 in the following 
equations:   
a)     log௫ 25 = 2                        

b)     log଻
ଵ

ସଽ
= 3𝑥 

 
2. Find the domain of  the following functions: 

a)    𝑓(𝑥) = ln 𝑥 + ln(2 − 𝑥). 

b)   𝑓(𝑥) = logଷ ቀ
௫ିଵ

ଶି௫
ቁ. 

c)   𝑓(𝑥) = log|𝑥ଶ − 𝑥|. 

 
3. Graph the function. State the domain, range, and asymptote: 

a) 𝑦 = 1 − log(1 − 𝑥) 

b) 𝑦 = |ln 𝑥| 

 

4. The graph of  𝑦 = logଷ|𝑥 − 3| − 1  is below the 𝑥-axis on the intervals 

A) (2, 3) ∪ (3, 4). 

B) (−∞, 0) ∪ (6, ∞). 

C) (−1, 0) ∪ (0, 1). 

D) (0, 3) ∪ (3, 6). 

E) (−∞, 2) ∪ (3, ∞). 
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4.4 Recitation Exercises 
 

1.  If  logଵ଴ 2 = 0.30,   logଵ଴ 3 = 0.48,  then   logଵ଴ ቀ
ଽ

ଶହ
ቁ = 

A)    −0.24          B)    −0.44          C)    0.36         D)  −0.32        E)  −0.28 

 

2. If  log 2 = 𝑐, then  log଼ √10
య

= 
 

A)      ଵ

ଽ௖
                B)       ଶ

ଷ௖
               C)     ௖

ଽ
            D)    ଵ

௖
               E)     ଷ௖

ଶ
 

 
 

3.  If  𝑀 = −logଵ
ଶൗ √2

ర   and  𝑁 = ቂ
ଵ

ଶହ
ቃ

ିଶ ୪୭୥ఱ ଶ
, then  𝑁ெ = 

  A) 2                       B)  -2                    C)  ଵ
ଶ
               D)  − ଵ

ଶ
             E)    4                

 

4. Use the Laws of Logarithms to combine the following expression 

3 logଶ 𝑥 −
ଵ

ଷ
logସ 𝑥ଵଶ +

ଵ

ଶ
logభ

మ

𝑥଺  ,    where    𝑥 > 0 

 

5.  If 𝑎 > 0, 𝑎 ≠ 1, 𝑥 > 0, 𝑥 ≠ 1, then simplify the expression 
 

(log√ଵ଴ 1000)(log௔ √𝑥)(log௫య 𝑎) 

 

 

 

 

 



 KFUPM – PREP MATH PROGRAM – MATH002 – TERM 251 
 

4.5 Recitation Exercises 

 
1.  Solve the following equations:  

 
a)    4୶ + 2ଵାଶ୶ = 50 

 
b)    𝑒௫ + 15 𝑒ି௫ − 8 = 0 

 
c)    logଶ(logଷ 𝑥) = 4 

 
 

2. The sum of all solutions to the equation logଶ √𝑥 = −ඥlogଶ 𝑥  is 

A)   16               B)   17                C)   1              D)   24               E)    12  

 

3. Find the intersection point(s) between the following functions  

𝑓(𝑥) = logସ 8 − logସ(𝑥 + 1)       and       𝑔(𝑥) = logଵ଺(𝑥 + 1) 

 
4. Find the inverse of the following functions 

a)    𝑓(𝑥) = 3௫ାଵ 

b)    𝑓(𝑥) = logଶ(𝑥 − 1) 

 

 


